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promote efficient
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appreciating the
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inherent in
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controlling those
risks
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Tu luan 20% Cau 13 2 diém P16.1

IT1. NOi dung cau héi thi _ )

PHAN TRAC NGHIEM (10 CAU: 4 PIEM- 0.4 PIEM/CAU)
Céau 1:

In which of the following ways might financial returns be improved over the life cycle of a
product?

(1) Minimising the length of the life cycle

(2) Minimising the breakeven time

(3) Maximising the time to market

A 2 only

B 1 and 2 only

C land 3 only

D 2 and 3 only

ANSWER: A

Cau 2:

The selling price of Product X is set at $500 for each unit and sales for the coming year are
expected to be 1,200 units.

A return of 10% on the investment of $300,000 in Product X will be required in the coming
year.

What is the target cost for each unit of Product X?

A. $475

B. $450

C. $570,000

D. $525

ANSWER: A

Cau 3:
A a single division at ABC company, is manufacturing a single product X which sells for
$37,500 has following unit cost structure:

Direct material: $8,500



Direct labour: $7,500
Variable overhead: $6,500
Share of fixed cost: $8,000
Profit per unit: $7,000

In 202X, the budgeted production volume is 200 units.
What is the budgeted breakeven sales revenue:
A. $4,000,000

B. $2,285,714

C. $2,666,667

D. $20,000

ANSWER: A

Céau 4.

A company makes a single product with the following data:

$ $
Selling price 70
Material 9
Labour 15
Variable overhead 6
Fixed overhead 8
(38)

Profit per unit 32

Budgeted output is 5,000 units.
What is the breakeven point in unit?
A. 1,000 units

B. 1,250 units

C. 5,000 units

D. 2,000 units

ANSWER: A

Cau 5:
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ABC Co makes joint products X and Y. $15,000 joint processing costs are incurred. At the
split-off point, 1,300 units of X and 3,000 units of Y are produced, with selling prices of $3

for X and $2 for Y.

The units of X could be processed further to make 900 units of product Z. The extra costs
incurred in this process would be fixed costs of $100 and variable costs of $0.1 per unit of

input.
The selling price of Z would be $5.

What profit or loss will arise if product X is further processed?

A. Profit $370
B. Loss $370
C. Loss $100
D. Profit $400
ANSWER: A

Cau 6:

The following data pertains to activity and maintenance costs for two recent years:

Year2 Yearl
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Activity level in units 10,000 6,000

Maintenance cost 21,000 16,200
If the high-low method is used to separate fixed and variable components of the cost. What
is the variable cost per unit (b)?

A. $1.2 /unit
B. $1.25/ units
C. $0.833 /unit
D. $0.5 /unit

ANSWER: A

Cau 7.
The following data pertains to activity and maintenance costs for two recent years:
Year2 Yearl
Activity level in units 10,000 6,000

Maintenance cost 21,000 16,200
If the high-low method is used to separate fixed and variable components of the cost. What
is the level of fixed costs (a)?

A. $9,000

B. $9,500

C. $10,000
D. $11,500
ANSWER: A

Céu 8:

What is the purpose of a flexible budget?

A To compare actual and budgeted results at virtually any level of production

B To allow management some latitude in meeting goals

C To eliminate cyclical fluctuations in production reports by ignoring variable costs
D To reduce the total time in preparing the annual budget

ANSWER: A

Céu 9:
Product Al consists of a mix of three materials, X, Y and Z. The standard material cost of a
unit of Al is as follows:
$
Material X 4 kgat$7perkg 28
Material Y 2Kkgat$6 perkg 12
Material Z 5kgat$8perkg 40
During March, 4,000 units of A1 were produced, and actual usage was:
Material X 7,500 kg
Material Y 13,000 kg
Material Z 21,300 kg
What was the materials yield variance in total for March?
A $16,000 favourable
B $16,000 adverse
C $200 favourable
D $200 adverse
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ANSWER: A

Céau 10
An investment centre in Apple Co generates a profit of $40,000. You have been given the
following additional information about the investment centre.

Working capital 80,000

Non-current assets at cost 200,000

Accumulated depreciation 120,000

Net book value 80,000
What is the ROI for the investment centre? (to the nearest %)
A. 25%
B. 20%
C. 30%
D. 10%
ANSWER: A

PHAN TU LUAN (6 diém)
Cau 1: (2 diém)
Budget information relating to a company that manufactures four products is as follows.

Maximum  Machine Maximum  hour Sales Material
sales hour per machine hour price per cost  per
Product demand unit required unit unit
A 1,000 0.1 100 15 8
B 800 0.2 160 10 6
C 2,000 0.3 600 12 9
D 1,500 0.4 600 20 15
1,460

Only 2,200 machine hours are available during the period. Applying the principles of
throughput accounting, how many units of Product B should be made if the company
produces output to maximise throughput and profit?

Céu 2: (2 diém)
An organisation manufactures and sells a single product, the G. It has produced the following
budget for the coming year:

$000 $000
Sales revenue (5,000 units) 4,000
Manufacturing costs
- Fixed 1,500
- Variable 1,000
Selling costs
- Fixed 800
- Variable 500
Cost of sales 3,800
Profit 200



1. If inventory levels are negligible, what is the breakeven point in unit (1 diém)

2. What is the breakeven point in sale revenue (1 diém)

Cau 3 (2 diém)
Blue Co has an operating profit of $20,000, and operating assets of $80,000. The cost of
capital is 10%. There is a proposed investment of $6,000 which will increase the operating
profit by $2,000

1. What is the ROI with and without the proposed investment? (to two dp)

- Without investment: 7%
- With investment: ?%
2. What is the RI with and without the proposed investment?
- Without investment: ?$
- With investment: ?$

PAP AN PHAN TU LUAN VA THANG PIEM
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Phin N¢i dung dap an Thang | Ghi
cau diém | cha
héi

I. Tric nghiém 4.0

Cau1l 0.4/cau

-10

II. Ty ludn 6.0

Cau A B C D 2.0

11 Maximum sales demand (units) 1,000 800 2,000 1,500

Selling price per unit 15 10 12 20

Material cost per unit 8 6 9 15

Throughput per unit 7 4 3 5

Machine hours per unit 0.1 0.2 0.3 0.4

Throughput per machine hour 70 20 10 12.5

Priority for manufacture 1st 2nd 4th 3rd

0.5d 0.5d 0.5d 0.5d

Cau 2
12
Noi Contribution: $4,000,000 — ($1,000,000 + $500,000) = $2,500,000 (0.254d) 1
dung | For 5,000 units, that is a contribution of $500 per unit (0.25d)

1. Fixed costs amount to $1,500,000 + $800,000 = $2,300,000 (0.25d)

The breakeven point in unit = FC/Unit contribution = $2,300,000/$500

=4,600 units (0.25d)
Noi Contribution ratio = Contribution/Sale =2,500,000/4,000,000=62.5% (0.5d) 1
dung = The breakeven point in sale revenue = FC/ Contribution

2 ratio=$2,300,000/62.5% = 3,680,000 (0.5d)

Cau 2.0

13

Noi Without investment: ROI = Profit/ Capital =20000/80000=25% (0.5d) 1
dung | With investment: ROI = Profit/ Capital

1 =(20000+2000)/(80000+6000)=25.58% (0.5d)
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Noi Without investment: Rl = Profit — Capital* ROImin= 20000- 1
dung | 80000*10%=$12,000 (0.5d)
2 With investment: RI = Profit — Capital* ROImin= 22000-
86000*10%=$13,400 (0.5d)
Piém tong | 10.0
‘ TP. Ho Chi Minh, ngay 25 thang 6 nam 2024
Nguoi duyét de Giang vién ra de
TS.Lé Phan Thanh Hoa Th.s Lé Nhuw Hoa



